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But if he said it in an expression of freedom it is indeed so

OVERVIEW

WX 17 challenged the ruling of 7 X (that 73PN 17 PR 7297 MR 1Y 1729 Ron)
from the ruling of 73 "1 AR 7" (that W17 DX 77910 121 172VNW DR DY IARW »
0w va 79 PandY). To which K responded that °»°7 27 erred. W 27 replied the
error of °n*7 27 is because 172¥NY° 9K is not an expression of MW, however if the
master would have used a 179 of MW then indeed the w1 would be required to
write a MY 1), so how can you T°»X say that 730 12 PX. This indicates that in
the view of WX 17, according to >"7, a MW WY is required for MY 172V PONT.
Our MpoIn resolves a contradiction to this assumption in the opinion of *".

nvoIn asks:
— 999 N 1INY” 229N 9INP 15’95‘1 9N

It is astounding! For previously the X723 comments on that which "7 taught

(that \nwX> 172Y), if indeed it is so, that 1nwx> 172y and just as an WX leaves her husband

after his death without a ©3, so too an 72¥ (who is 7577) leaves his master without a v, the ruling
should be that -
— INYND 17aYT V) XD NDNWN NN 90 NN 17aY PPann

One who frees his slave and dies, the 72v should be sent totally free without a w3

MY, for INWNRD 172 (so why does X rule that 7370 19 1’&)2.
— 203 927 YNPYN NI

However here it seems that a v is required.

mooIn replies:
—*NONT N5 29 93 HNIIY 299 NN IYY NP

And perhaps (we can answer) that the previous X713 is according to >''12wn,
who is mentioned here (and our X723 here is following the view of 27 27).

moon offers an alternate solution:

! (The bottom of) x,u".
? The X1 responds (there) that X*wp W K; indicating that according to *"1 he is emancipated without a v3.
? See ‘Overview’.
4 See YR 213 7"7 *"wA that *"2w1 maintains that the entire statement of *»*7 27 in the name of "7 is incorrect, and
*"3 was actually discussing a different case regarding nni1 127 o»p% m¥n. However if the master was 27nw» the 72y
and died then indeed a MW v is not required.
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Or you may also say; in the X713 here, a v3 is required only 31297, in order the

master should not claim later, ‘you are my slave’; however 770 P72 if one is °pan
nM1172Y, no MINY Vi is required (according to °"7). MdOIN supports his view of this 7327771 V3 -

109N SYNIA N¥IA NIN 1Y 0Py 1IN

As the X713 states later, according to one Xin, regarding an °1v12 72y who leaves

his master because he cut off the tips of his limbs, that 113172 there is a need for the
master to write him a W v, so that the master should not claim later 70X >72v.

SUMMARY

1AM "M maintains according to 17 27 that n»Y 172¥ PoNA, the 72V requires a 03
7w, however according to 7717 02 HXMW 27 there is no need for a MM v since
INWRD 172Y. Alternately everyone agrees that N1 172y °poni, does not require a i
XDIRTA NINY, however 112771 a MW vi is required (according to WX 17)
because the master may claim 70X >72v.

THINKING IT OVER

Could have msooin posed a contradiction from "7 here who rules that a vi is
required, to the previous’ ruling of *" that the 79971 is like the %1Xw X2x7 1327 (that
all the slaves are freed) indicating that a 9nw w3 is not required?”

> See later on X,¥n (at the very beginning of the T1n¥). XN XA a MINW v is not required for ma 172y pons, but
nevertheless °»°7 27 maintains (according to *"7) that 11277 a MNW WA is required to protect the 72y in case the
master claims later that you are my slave; he will have the 7w vi to disprove this claim.
6 See 3,21 and 'on there 9°X177 1"7. The Py*191 there rule that if the 72y is released by P¥1 1w then no MW "W is
necessary, if however he was released by the other 012X WX, then a MW v is necessary. The X713 explained that
0”2k W are different (from 1¥1 12) since it is (only) a 0°»217 w71 that he is released. Mm»doIN explains that since it is
not wMon in the 770 that he is released the 0°m>n were concerned that the master may claim afterwards 70X »72v.
" a2,05.
8 See X7 X"wAAN.
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